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8 &

Bt (number)

B fi (unit)

& (quantity)

#x B (iniegers)

s B (dezima's)

4 Bk (conereie number)
K 4 B (abstract number)
X B (simple number)

% A B (mixed decimal)
4 i (addition)

F1 (sum)
"SR {1 % (approximate .alculation)
% 7% (subtraction)

# (d‘fferenco)

# # B (minuend)

% B (subtrahend)

= (zero)

#% I8 (parenthesis)

S ¢ (multiplication)

P T B¢ (multiplicand)
% 8¢ (mulfiplier)

s % (product)

A Bt (factor)

B ¥k (divigicn)

3% & B¢ (dividend)
Bx B (divisor)

! % (quotient)

8 8% (remainder)

B Z @
1 4 % (compound dens>minate

number)

| 8 4 8 (simple denominats num-
ter)

# % (scale)

+ # i (decimal system)

BE (measura)

i (capaeity)

% (weight)

E (length)

il 8 (area)

#h #& (land area)

#8 #% (volume)

7 (% &) (capacty)

% B (morey)

BE [E (time)

B2 H (solar day)

7 # % B A (mean solar day)
8% (hour)
.45 (minute)

(180)
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b (sesond) ¥z B texactly divisible)

&t (year) . 1% B ‘even number)

25 47 (common year) %F B¢ (odd number)

B 4¢ (leap year) Z Bf (prime)

A (month; B Y & (mufually prime nambars)
B 1 (week) ® 1A 8¢ (prime factor)

i it (reduction descendi~g) £+ #3 Bt (common measure)

fr §% (reduction agcending) 2 {5 B (common multiple)

28 (arc)

I (degree) % ﬁ

#£ R (quadrant) & B¢ (fraction)

JA £ (perigon) 4 Bk (denominator)

i £ (ight angle) % F (numerator)

£5 # (longitude) & % B¢ (improper fraction)

#t 17 (latitude) & 4 B (proper fraction)

F 4 # (meridian) #5 4 B (mixed fraction)

A %) F 4 # (prime meridian) % 5 Bt (complex fraction)

P # (south pole) #3 47 (reduce 2 fraction to the low-
3k £ (north pole) est terms)

75 i (equator) & 4 Bk (common denominator)

— & 8 /) B (recurring decimal)
£ = & ' , .
§& 3 4§ (reeurring period)
& & (multiple number) 7% & B (recurring point)
# B¢ (exact number) ¥ B (reciprocal)







